normalized X?

107}
1072

103

< x2/ndf >

Ratio

< x2/ ndf >

[ normalized x? probability |

0.02

chiz chiz_prob
Entries 1590 E Entries 1590
Mean 1373 Mean 0.4008
Std Dev 1155 0.18 - |std Dev 03332
chiz R PR
Entries 1591 0.16 Entries 1591
Mean 1325 Mean 0.4113
Std Dev 1.035 0.14] “ Lstd Dev 0.3324
0.12 Cchi2_prob
501 Entries, T501
1325 of--+--- 3 - [ Mean 0.4113
1.035 | : Std Dev. 0.3324
0.08 MR
0.06
0.04

Ratio
-

0 2 4 6 8 10 12 14 16 18 20
2

X

%801 0.2 0.3 0.4 0.5 0.

6070809 1
Prob(x?)

B

m=me= DQM_V0001_R000000001__Global
* | m=——DQM_V0001_R000000001__Global
. | == DQM_Vv0001_R000000001__Global

-

|__cmssw1000time__RECO
__mkFitNewOLD1000time__RECO
|__mkFitNewBinsAdj1000time__RECO

< X2/ ndf >
N
00

i
T T[T [T [T T I [T TIT T

Ratio

102

-1
AR(track, jeltS)




	Contents
	Page 1


